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As usual the symbols ab and ab refer to line b on page a from above and below, respec-
tively.

815 : Replace “Irr(G/N)” by “Irr(X/N)”.

109 : Delete “(some)”.

18 : The following argument is missing before Theorem 1.10a:
In the proof for Theorem 1.9c we have seen that

|Irr(X|θ)| = |G|
|X|2

∑

x∈X

∑

y∈CX(Nx)

θ([x, y]).

Now y 7→ θ([x, y]) is a linear character of CX(Nx) which is trivial if and only
if the class of Nx is good for θ; otherwise

∑
y∈CX(Nx) θ([x, y]) = 0. An obvious

application of the Cauchy–Frobenius formula (1.4a) therefore yields the following.

284 : Insert the following: Write
∑

ϕ∈IBr(b) dy
χϕϕ(1) =

∑
j

(∑
ϕ d

(j)
χϕϕ(1)

)
εj with inte-

gers d
(j)
χϕ (for each χ).

353 : Delete “and has prime order”.

357 : A bracket is missing: T = NGL(V )(S)

367 : Hence, using Theorem 1.4b and the Clifford–Gallagher formula (1.10b), we get
the (crude) estimate ...

3911 : The congruence should read ≡ ψ(1)χ(v−1) ≡ ±χ(1) (mod p).

415 : Replace 1 < n < m by 1 ≤ n < m.

411 : (3.4b) CH(v) =
⋂

i CH(vi) = 1.

477 : Replace 1 < i < n by 1 ≤ i < n.

4716 : “if and only if rn = 21, 31 or 22.” (Of course GL2(2) = Sp2(2).)

519 : Replace (3, 1) by (1, 3).
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5410 : Let Z be a cyclic central subgroup of X containg Z(E), and let U = EZ/Z (which
may be identified with E/Z(E)).c

6015 : Let V be a coprime symplectic FpG-module ...

714 : Delete “be”.

729 : The proof of step (3) is incomplete. Argue as follows:

Otherwise choose N so that this is false. Then N 6= G by (1). Let W be the unique
irreducible constituent of ResG

N (V ) (in view of (2)). By assumption F0 = EndFN (W ) is
a proper extension field of F . Let Γ = Gal(F0|F ) (a cyclic group), and regard W0 = W

as F0N -module. Then F0⊗F W ∼= ⊕
σ∈Γ Wσ

0 where the Galois conjugate F0N -modules
Wσ

0 are pairwise nonisomorphic (and absolutely irreducible). To every x ∈ G there
exists a unique σ = σx ∈ Γ such that (W0x)σ ∼= W0, and the assignment x 7→ σx

is a homomorphism making F0 into a “G-field”. The kernel of this homomorphism is
a normal subgroup Ñ of G containing N , and it is the inertia group of each Wσ

0 in
G. By (1) F0 ⊗F V is an (absolutely) irreducible F0G-module, whose restriction to N

contains all the Wσ
0 . By Clifford’s theorem, for each σ ∈ Γ, there is a unique (up to

isomorphism) irreducible F0Ñ -module lying above Wσ
0 and inducing up to F0⊗F V , and

these modules are conjugate under G. We conclude that Ñ = N and that Γ ∼= G/N .
It also follows that ResG

N (V ) = W is irreducible and that F0 ⊗F V ∼= IndG
N (W0). Let

W0 = W = V be as sets in what follows.

Since dim F0W0 < dim FW, there is v ∈ V such that the restriction of W0 to H0 =
CN (v) contains a faithful F0H-module U0 which is self-dual. This is a direct summand
of ResN

H0
(W0) by Maschke’s theorem. Let H = CG(v). By Mackey decomposition

U = IndH
H0

(U0) is a direct summand of F0 ⊗F V with CH(U) =
⋂

h∈H CH0(U0)h = 1.
Of course U is self-dual. Let χ be the (absolutely irreducible, Frobenius) character of G

afforded by V . Since U is a self-dual F0H-module, for every character θ afforded by some
irreducible summand of U , the character θ∗ of H, given by θ∗(h) = θ(h−1) for h ∈ H,
is the character of an irreducible summand of U likewise. So θ + θ∗ is a constituent
of ResG

H(χ) if θ 6= θ∗. For each σ ∈ Γ we also have (θ∗)σ = (θσ)∗ as a constituent (as
χ = χσ). Let Uθ be the irreducible FH-module affording the trace character TrF (θ)|F (θ).
This Uθ appears in ResG

H(V ), as well as Uθ∗ = U∗
θ (the dual module). Either Uθ

∼= Uθ∗

is self-dual or Uθ ⊕ Uθ∗ appears as a (self-dual) FH-submodule of V . Now consider
the direct sum of the distinct (nonisomorphic) Uθ, Uθ∗ obtained in this way. This is a
faithful self-dual FH-submodule of V , as desired.

7312 : “Let G0 = NG(E0), and let θ, θ0 be the Brauer characters of E, E0 afforded by
W , W0, respectively, and let G(θ), G0(θ0) be the extended representation groups.
So G0(θ0) is a central extension of G0 by a (cyclic) group of order dividing |G0|.”
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737 : Replace G(θ0) by G0(θ0).

849 : Of course Theorem 4.4 is meant.

9117 : ... , because 13 is a Zsigmondy prime divisor of 33− 1 and so 13 : 3 cannot be an
irreducible subgroup of Sp6(3) by Clifford’s theorem.

973 : Replace VV (g) by CV (γ) and 2 · 32(2r2) by 2 · 22(2r2).

10013: Replace E by E0.

10516 : Delete “(hence r ≥ 7)”.

1063,4 : Replace H0 by H; the same on 1072.

11216 : Replace r = 19 by r = 13 (in the table).

11311 : Replace (5.1b) by Lemma 5.1b.

1142 : Correct as follows: “... where χ takes the value −1. Hence yV = [z, z2, z3, z4] for
some element z ∈ Z of order 5. It follows that the regular E-orbit remains an orbit
for X = E × 〈z〉, and we may pick the vector v such that CX(v) = 〈z−1y〉 = H.
Since NX(H)/H has order 2 [Atlas] and Z(G)/Z(X) order 3, we have H = CG(v)
by Lemma 5.1b.” (By Proposition 7.3c below, and the discussion on page 132, there
are exactly 30

6 µ6
χ,1(31) = 1 regular orbit on V for E ◦Z6. This yields at once what

we need.)

11913 : Replace “four G-orbits” by “one G-orbit”.

1298 : There is a regular G-orbit since ...

13016 : Insert “by” (Theorem 4.5a).

1407 : “Let x be an element of L in the Atlas class 3B. Then x fixes a nonzero vector
v ∈ V . From χ(2A) = 0 and NL(Fv) ⊆ NL(〈x〉) ∼= 32 : 2 [Atlas] we infer that
CL(v) = 〈x〉 (r = 5) and NL(Fv) ∼= S3. This S3 lies in a maximal subgroup of L of
type L2(7). This implies that CG(v) ∼= S3. The elements of order 6 of L.2 outside
L have the property that there 3rd power belongs to the class 2B outside L. Since
every extension of S3 by a group of order 2 is isomorphic to S3 × Z2, this shows
that CG0(v) = CG(v).”

14811 : Insert indices: CG(w1)/CG(W1)× · · · × CG(wn)/CG(Wn).

15014 : Deleete one bracket: T = N(EZ)wr Sn

15716 : ... and we get a real vector in V as in the (revised) proof for Theorem 5.4.

15914 : A simplified argument is as follows: “ Hence there are |G/N | distinct G-conjugates
of Ṽ0 = Ũ0 ⊗F W̃0 by Clifford’s theorem (which are nonisomorphic F0N -modules).
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On the other hand, ResG̃

Ñ
(V ) has a unique irreducible constituent Ṽ , which by (3)

is absolutely irreducible. We conclude that Ṽ0
∼= F0 ⊗ Ṽ is the unique irreducible

constituent of ResG̃

Ñ
(F0 ⊗F V ), and we obtain the contradiction N = G.”

16113 : Replace 5.3b by 5.3a.

16216 : Add one bracket: T = NH(P ).

18720 : Replace k(Y a/Y11) by k(Ya/Y10) (in the table).

1903 : Numbers like 2.400 should read 2400 (?).

1973 : For p = 2 the congruences tell us nothing, however in this case the group G has
odd order and so the Burnside congruence (1.5a) applies.

1982 : Just assert that χ(1) ≡ ±1 (mod p) and |G| ≡ ±1 (mod p).

19812 : The proof should end with |G| = |H| · |G : H| ≡ ±1 (mod p).

1984 : The term χv,ζ(1) should read χv,θ(1).

2009 : Though not needed in the text, we mention that the same holds if H = CG(v) is
just abelian. Use that the kernel of an FH-module Vi agrees with the kernel of its
dual module V ∗

i (and use the direct decomposition of HV ).

2327 : “Spectral pattern, 76” should follow after “Singer cycle, 43, 195” and should be
followed by “Splitting field, 2”. (One “Spectral pattern” is enough.)
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